


How to measure

How to measure in cm's

Watch this video

https://www.youtube.com/watch?v=c422YGms AQ

How to measure in cm's and mm's

https:/ /www.youtube.com/watch?v=GbOu0d18mSg¢

Watch this up to 6minutes and 30 seconds
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Can you measure some items

If you have a ruler in your house. Can you go and measure 5 different items
then get an adult to check your measurement.

Draw 5 different sized lines then have a go at measuring them.

If you do not have a ruler then have a look at the following rulers and
measure the object or if can have a printer you can download the sheet that
has a ruler printed on it.
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What 1s the measurement of these items
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If each items was 2.3cm or
23mm longer. What size
would they both be now?




What 1s the length ot these items?
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What is the length of these items if
each one was 5.8cm or 58mm longer?




What position 1s the pointer pointing at?
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Add in a pointer to show:
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9.2cm
cm 11mm
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Draw a pointer on to each ot these rulers
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that are 9.3 cm
Il W I G 1 W s R R 48mm

7.6cm
Vel M e e S e S e i 181mm

5cm

11 cm

9cm

d do o 2 B W bt N7 18

17¢cm

)
| €



)

la. Match each image to its length.
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1b. Match each image to its length.
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2a. Imagine these objects are their vsual
size and match them to the most suitable
length measurement.

b 4
. 1]
fly cat
35cm &mim

2b. Imagine these objects are their vsual
size and match them to the most suitable
length measurement.
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snake moth
80cm 2mm
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3a. Tick the length of the bread.
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Not drawn fo scale

‘é? 50mm
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N ﬁ 30mm

3b. Tick the length of the carrot.
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Not drawn fo scale

Sﬁmm‘

4qa. Complete the sentence below.

'ﬁ*? The line is \cm long.

ﬁ? The line is

4b. Complete the sentence below.

cm long.
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La. Match each image to its length. 5b. Match each image to its length.
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#a. Imagine these objects are their usval | éb. Imagine these objects are their usual
size and match them to the most svitable | size and match them to the most svitable
length measurement. length measurement.
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fa. Tick the length of the pencil.
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fb. Tick the length of the snake.
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8a. Complete the sentence below.

Hﬂr} The line is D cm and D mm long.

-
J-

db. Complete the sentence below.

[ |

ﬁ,ﬂr} The line is \cm and D mm long.




)

O

X

0. Match each image to its length. 2b. Match each image to its length.
1 A, . T )
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1 mm J37mim
Lcm and dcm and
| 2mm | ! 3Imm |
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10a. Imagine these objects are their 10b. Imagine these objects are their
wsual size and match them to the most vsual size and match them to the most
suitable length measurement. suitable length measurement.
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11a. Tick the length of the flower. 11b. Tick the length of the bunting. |
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Mot drown fo scale Mot drown o scale

; .. 3cm and ?mmD dcm and Emm[ nE 2cm and lmmD Fem and meD .
12a. Complete the sentences below. 12b. Complete the sentences below.

The line is D cm and D mm long. The line is \-::m and D mm long.
. The line is Dmm long. _ »The line is \mm long.
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Whltney's ruler is broken.
How could she use it to still measure

Three children measured the same toy
car.

items?
Eva says that the caris 6 cm and 5 mm
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3% 5 & 7 8 FWNTMUTBEWE LT NI :
Tommy thinks that this chocolate bar is 4 Dexter says the caris 5 cm ﬂ
cm long. }
Is he correct? {
||||1ql!lﬂq|F||rmFplF-p-llHuqlqlrﬂlqlwlfmrm,lplrlm '
3% 5 & 7 8 FWMNMUTBEWE ST NI £
||1l|||||pquunp,lqumlrn”qr TSI AT Annie says the caris 4 cm 5 mm
L & 8 7 0N IWEEW™IEIWITIEIT N
. ||||1ql!lﬂmﬂlrmFplF-rllllﬂuqlqlrp‘lql!lml;lrlurlpl,u|| '
Convince me. TR 819 20 :
: Who is correct? £t
o Who is incorrect? B
: 2, Explain why. @ ;
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1a. This pen is 15cm long.

Find 3 objects in your classroom that are
shorter than the pen.

Write the measurements of the objects
accurately to the nearest cm.

Yg‘? Mol drown fo scale

1b. This lollipop is 80mm long.

Find 3 objects in your classroom that are
longer than the lollipop.

Write the measurements of the objects
accurately to the nearest 10mm.

‘ﬁr Not drawn o scale

2a. Ben and Ciara are discussing the
measurement of a plant seed.

a | think a plant seed would
= measure dmm.
P

|

Ben

| think a plant seed would
measure F0mm.

Ciara
Who do you agree with? Explain why.

Y

2b. Tio and Seth are discussing the
measurement of a book.

q . ) | | think @ book would

|

Tat measure 25cm.
Tia
| think a book would
vt measure 4cm.
Seth

Who do vou agree with? Explain why.
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Ja. S5id has measured the fish.

, A\,I think the fish is 20cm Inng.}

|

3b. Jen has measured the paper clip.

0.

30cm long.

| think the paper clip is ]

o1 2 3 4 5 & T & 9%

Nof drown fo scale

Is he comrect? Convince me.
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Naof drown to scale

Is she comect? Convince me.
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4a. This sofa is 3m and 50cm long.

Find 3 objects in your classroom that are
shorter than the sofa.

Write the measurements of the objeclts
carefully in cm and the nearest Smm.

\ Mot drawn fo scale
e

4b. This toy rocket is 20cm and 4mm long.

Find 3 objects in your classroom that are
longer than the toy rocket.

O

-

Write the measurements of the objects
carefully in cm and the nearest Smm.

' Not drawn o scale
LA

La. Lily and Azra are discussing the
measurement of a table in the classroom.

*4 | think a table would }

.
AL measure 20cm.

Lily

| think a table would
measure 2m.

Azra

Who do you agree with? Explain why.

T

5b. Joe and Brian are discussing the
measurement of a candle.

'- -‘ | think a candle would
¥y ¥
- measure 12cm.

Joe

| think a candle would be
Jmm.

Brian

Who do you agree with? Explain why.

A,
1]

D)

4
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&a. Karl has measured the malchsthick.

&

.

think the matchshick is fem
and 4mm long.

&b. Sara has measured the paintbrush.

s &

| think the paintbrush is
lécm and 8mm long.

]

5 & F a8 9 10 11 12 13 14 a 7 m 11 12 13 14 15 14 17
Not drown fo scale Not drawn to scale
Is he comrect? Convince me, Is she comrect? Convince me,
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7a. This needle is écm and 2mm long.

Find 3 objects in your classroom that are
longer than the needle.

Write the measurements of the objects
carefully in cm and the closest Tmm.

Nof drown fo scole

7b. This man is Tm and 7&cm tall.

Find 3 objects in yvour classroom that are
shorter than the man.

Write the measurements of the objects
carefully in m and the closest 1cm.

Not drown o scale

8a. Freya and fain are discussing the
measurement of a book shelf.

w | think a book shelf would

rat measure 2m and 15cm.

Freya

ﬁ | think a book shelf would

s measure 12cm and 4mm.

Iain

Who do you agree with? Explain why.

Ab. Scarlett and Mateo are discussing the
measurement of a phone.

| think a phone would
measure 1m and Scm.

Scarlet
a | think a phone would
i measure 12cm and Imm.
-
Mateo

Who do you agree with? Explain why.
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%a. Mia has measured the chocolale bar.
| think the chocolate bar is
Lem and 8mm long.

‘I il |||u||| | ‘ |||||||||| | |||||||u||| ||‘u|||||||‘|||||u||‘|||||| ||‘||||||| ||
i 16

Mol drown fo scale

Is she commect? Convince me.

?b. Khalid has measured the key.

|| il |||u||| | ‘ |||||u||| | |||||||||||| ||‘|||||||||‘|||||||||‘|||||| ||‘||||||| ||
b 15

Naot drown to scale

| think the key is 3cm and
?mm long.

Is he comect? Convince me.

! . 1 . b
¢ RN
) (‘q/

e e e e L TTYTPTY Ty



"y

Ly

TR AT

A};::z FoF
P

..........

St Tl = = =] P > % /
= L CEON L O SO >, A e e " < s L = = = = > -

i gt ot FAESr LeSE e as Lo ok et s e P P Aot Pt S Pttt ST ittt
PR T Lé':‘::,r;‘g’é;::’éim:! B et g h R ek RAS S s At h M AR S S o a St s

R VR RN

Listen to the song

https://www.youtube.com/watch?v=djTNUp4XIRo

Watch the video on metres

https:/ /www.youtube.com/watch?v=17ZCitrXuXIvA
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https://www.youtube.com/watch?v=djTNUp4XIRo
https://www.youtube.com/watch?v=IZCirXuXIvA
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What cm will be a,b,c and ?

" If a = 10 cm, calculate the missing measurements.

i b I
O cm l Y Yom

S IR 5 AN 5 I I D —

Tm

f—




Can you mateh the cm te m

(Can you match the equivalent measurements?

100 cm 9m
om 200 cm
300 cm ' 200 cm
2m 1 metre

900 centimetres 3m




Can you use Eva's method to convert the
amounts underneath

Use Eva's method to convert:

* 150 cm
e 230 cm
e 235cm
* 535cm

« 547 cm




Mo and Alex each have a skipping rope.

S | have the longest E
skipping rope. My
skipping rope is 2 %
@ metres long.
Mo says,

My skipping rope is )

the longest because
it is 220 cm and 220

. 1
is greater than 2 5 )

Who is correct?
Explain your answer.

Three children are partitioning 754 cm
Teddy says,

@ 4?5mand4ﬂm]

Whitney says,

J7manssacn |

Jack says,

. ; <[ 54cmand?7 m ]

Whao is correct?
Explain why.
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